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show your work

#‘I Length = 84m
Width= ¢7
Area = 5,628m?

6/

8H ) 0628

504
087

- 587
0

Perimeter = 302 m
84+67+84+67 = 302

Length =_30 m
Width = 30m
Area = 900m?

30
30 ) 900
- 90

Perimeter = | 20 m

30+30+30+30 = 120

#2 Length = 39m

Wldfh = 60m

Area = 2,340m?

60
39 | 2340
- 234

000
- 000
)

Perimeter = 1 98 m
39+60+39+60 = 236

#7 Length=_109 m

Width = 130m

Area = 14,1770m?

109

14170
130

1170

- 170

9

130

Perimeter = 1/8 m

Use this page to organize your work and find the lengths of the missing segments on page 1. Refer to
page 1 for the corresponding rectangle number and solve for the missing length or width using division.
To find the total length of the trail, you can add up the individual lengths one by one, or you can solve for
the perimeter of each rectangle and find the sum the perimeters. Either way, you will get the same answer!

#3 Length = 58m

Width=__72
Area = 4,176m?
/2
o8 | 4176
- 406
116
- 116
O

Perimeter = 260 m
58+72+58+72 = 260

#8 Length = 37m

Area = 2,960m?

80
37 ) 2960
- 296

000
- 000
O

Perimeter = 231 m

109+130+109+130= 478 37+80+37+80 = 234

Length = 36m
Width= 56+
Area = 2,016m?2
56
36 ) 2016
- 180
216
- 216
0

Perimeter = 184 m
36+06+36+06 = 66

#9 Length = 40m

Width=51m
Area = 2,040m?

o1

40 | 2040

- 200

10

10
0

Perimeter = |82 m
HO+51+40+51 = 182

#5 Length= 41m
Width=__ 38~
Area = 1,558m?

38

%1i 1558

- 123

328
- 328
)

Perimeter= 108 m
H1+38+41+38 = 1568

Fill out the spaces

with the perimeters 302 m
of the 9 rectangu-

lar loops and add 198 m
them together. »

260 m

184 m

158 m

120 m

478 m

234 m

+ 182 m

TOTAL» 2116~
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